e WE U REL O BT 4 90 RS - 5 4185t 27
B Py

O Z2dETh 7]17F 10em ¢ Zth @ —10cm

@ 2% 0] 1000 Yoltt: 1000 ¥

® 23 AdHEe ool 5 A st Pck: -5 4
@ 25 oty 7]20] 93} 8°C ofrt: +8°C

® 7] A& A 20 =02 FHol Qt}: —20 &



® -27

24
©-, ©0

@ +12
® 31




@ -4<0 ® -4<-5

O -2<-1

G 4>-1

@ -7 < -4



(=3)-(=D)+(+2)-(+1)
=(—=3)+(+4)+(+2)+(-1)
=(=3)+(=1)+(+2)+(+4)

={(=3)+(=D}+{(+2)+(+4)}

=(—4)+(+6)
=+2

W (v) W
A (L) 2EHE
A () 29
Ay (=) 2y
w2 (o) A



ohe 5 At 29t

5.

@ 7+8-12 ® 4-6+7

®© -2+4-7

® -6+11-3

@ -3+7-8



D= (D) aexsanaza



47 Az

® -1,0
@1, -1



15Fe] ASHA AL 6ute] BSHAEo] 10 2A &2 458 7= st o=
A=Y g9 A5 AESHIL}. 7| EH S 1045 96l A

fm §
102AS BT Zo] AV} 7TEAS 2|1

A7} 5|9ke o A 9] 445 Totole
B e |



g Fateler,

oA 2



® o0

@ +25

O -17



A

ﬂmo

B 5

@ 4



@ (+9) - (+11

@ (-15) - (-

® 0-(-18)



13.

thg oA Al Hel 9l ] o] go] B )
=PRSSl G, 002 YW # A9
7

® ®206
®E®-200 @ -503






15. Thg % A4 Ak i) div the s

@® (=6) x 2+ (-4) @ (-24) = (-8) x (-1)
® 18+ (-6) @ (-5) x (-3) = (-b)
® 27+ (=3)=(3)



16. axb<0,bxc>0, a>bd 0, }& & 2L 7129

@ a>0,b>0,¢>0 @ a<0,b>0,¢>0

® a>0,b>0,c<0 @ a<0,b>0,c<0

® a>0,b<0,¢c<0



)—(-10) J(l)

(2)
(3)

D —

1_‘]2_
=

)—(=10)

(~20) % (1)
5 +(—20) x ( 1
5

11
2 5
(-1
( 0)+(+4)—(
+4) e
+(—10)+(+10z

AAt 3
Tt oA o]-&
gl
(+4)+0

(=20) x(

[

j=1

17. o

i~
!
o
E

I~
o
o
iz

_Z_l

e
;OH

T

—

_Z_l
s
o
4

]’

_X_l

L
__OH

T

—

_Zﬁ
s

jant
!

—

_Z_l
L,

;OB
T
i~
Gt
ol
e
i~
g

jant
izl



™

il

olJ
L

o, a+b 9

?:_}

@ 2 B 3

1



19.

n O] B T, (-1 (-1)4 = (1) 2] ghe?

@D -3 ® -2 B -1 @ 0



@ 6+ (-2)=-3

@ 0+3=0

@ 3+(-1)=-3

1

® (=3) = (+3)



